| EEW | BAEREREWMW | txB d | @HRLEFY ] © H
15A 25.7 1.8x25 | W3/8 M6 x 20 24 80
20A 31.2 1.8x25 | W3/8 M6 x 20 24 83
925A 37.6 1.8x25 | W3/8 M6 x 20 24 85
39A 46.3 1.8x25 | W3/8 M6 x 20 24 90
| | 40A 52.2 1.8%25 | W3/8 M6 x 25 24 04
LN | | 50A 64. 1 1.8x25 | W3/8 M6 x 25 24 97
ﬁ A \
U } — - 65A 79.9 2.0x25| W3/8 M8 x 25 24 105
7 ! 80A 92.7 2.0x25 | W3/8 M8 x 25 24 | 110
! | 100A 118.3 2.0%25| W3/8 M8 x 25 24 125
X 125A 143. 8 3.0%32 | Wi/2 M10 x 35 32 160
MGEI %) 150A 170. 2 3.0x32 | Wi/2 M10 x 35 32 175
[ \ l [
AL T b
i ju— —
N . -
X
W
— +
—— O E PCR/AUREL A
HE SPHC REE S Fm o th o RE 1
%5 HE wRE BFE A%k
F=AE
HE 10110010179 RN
._‘I A SHEET
NICHIES = S = = s #
| INTEC H 7|<’f./T“J71‘5|EEt:::*i EMERE| A3




